Multiplication et Division par 10* (])

85+ 10! =

52 x 101 =

42 + 10t =

44 x 10t =

50 x 101

21 x 10"

8 +10'=

47 x 10t =

9x 10! =

1x10'=

Trouvez chaque produit ou quotient.

57 +~ 10! =

84 + 10" =

64 x 10 =

98 =~ 101

59 + 10! =

87 x 10?

34 x 10?!

52 + 10 =

41 x 101 =

66 + 10 =
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Multiplication et Division par 10* (]) Solutions

85 +101=8,5

52 x 10' =520

42 +10'=4,2

44 x 10 = 440

50 x 10* =500

21 x10'=210

8+10'=0,8

47 x 10* =470

9 x 10' =90

1x10'=10

Trouvez chaque produit ou quotient.

57 +10'=5,7

84 +~10'=8,4

64 x 10" = 640

98 - 10'=9,8

59 +10'=59

87 x 10 =870

34 x 10' =340

52+10'=5,2

41 x 10' =410

66 +~10'=6,6
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